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Question: 110

Which of the following statements about block virtualization technology for Huawei storage systems are correct?
(Choose all that apply.)
A. A CKG is the unit used in applying for space, releasing space, and relocating data.
B. Data reconstruction efficiency improves significantly.
C. A RAID group is formed in the unit of physical disks.
D. Data is distributed to all disks, fully leveraging the read/write processing capability of a storage system.

Answer: BD

Question: 111

Which of the following operating systems supports the CIFS protocol natively?
A. Solaris
B. AIX
C. FreeBSD
D. Win7

Answer: D

Question: 112

What is the main difference between mechanical drives such as SAS with solid state drives (SSD)?
A. The lifespan of hard drive.
B. The presence of mechanical parts.
C. The capacity of hard drive.
D. The performance of the hard drive.

Answer: D

Question: 113

If no data migration plan is set, with SmartTier enabled, there will be no data movement at all between tiers.
A. TRUE
B. FALSE

Answer: A



Question: 114

Which of the following technologies are able to quickly obtain valuable information from a variety of data types in
a short period of time from a collection of vast amounts of data?
A. Cloud
B. Internet Of Things
C. Social Media
D. Big Data

Answer: D

Question: 115

Storage Pools cannot be created with a single tier of disks.
A. FALSE
B. TRUE

Answer: A

Question: 116

You need to manually set free disks as hot spare disks in a Huawei OceanStor V3 storage system when you use
RAID 2.0+.
A. FALSE
B. TRUE

Answer: B

Question: 117

Situation: Disk Domain A has 40 disks, Disk Domain B has 20 disks. True or False: the rebuild time for a failed
disk in Disk Domain B is longer than for a failed disk in Disk Domain A.
A. TRUE
B. FALSE

Answer: B

Question: 118

Which of the following criteria fits the definition of the Cloud? (Choose all that apply.)
A. On Demand Self Service
B. Ubiquitous Access
C. Shared Pool Of Configurable Resources
D. Massively Parallel Processing

Answer: ABCD

Question: 119



IP SAN uses underlying optical networks to connect servers and storage systems.
A. TRUE
B. FALSE

Answer: B

Question: 120

Which of the following best describes SDN? https://vceplus.com/
A. Decoupling of the data plane and control plane in networks.
B. Using a software program to manage your network.
C. Using hardware to manage the network.
D. The virtualization of network services to achieve better efficiency and scalability.

Answer: B
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